$-Eik
6. 2 DA

—. X

B X1, X, Xn A B XN(O,DITFEAS, WZETT 5 x* =5 X7
i=1

IR E B R n ) x2(n) 2041, BERECH:

0 1 g—l —g
x? e x>0

fﬁMﬂzgﬁg)
= 0 x<0

Xﬁ?%ﬁ%ﬁ"]ﬁ% d» O<a<l y ad éj\/fl‘_[i){_i
PiX* > ximy=[ [(x)dr=a

. a=0.1,n=25, W[&MESH

X2,(25) =34.382
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W X~N(0,1),Y~x*(n), I H X, Y AL, NFREEILAE
, :lyﬂw FLETEE A 0 B0 €204, 8K tet(n)e SRR .
n+l

#
F(—) t2 _n+l

f(t): 2 (1+—)T —00<t<+oo

ST EIES a, O<a<l,
a WANSM i, P>, i =[] f(odt=a
a S E A P L 3 = [ f(0de = a

A t AT XS BRI, PTRAAT 250 ta(n)=-ta(n)

n>45 Ja, WA tn)~Z, CGESSAER), R n—teoltf, t 7

ARG T HRAE RS 041



—. F A

X7 e

n,

% X~xm), Y~x%m), X, Y FEHEM, MFEYASEF =

HEEEA (nny) B F 904, 8 F~F(np,ny). HEERECH:

U T[(n, +n,)/2] ny 121_1 noo T
SO = 1D, 12) o, Y y=20

0 y<0

Xﬁ?%ﬁ%ﬁgﬁiﬁ a, O<a<l, a éj\/fl‘_[i){_i
PUF>F, (n.m)y={  f(dy=a

: a=0.05, nl=15,n2=12, (&K 6) Fo05(15,12)=2.62

1

:I\%}Jﬁ\: E—a (I’ll, 1’12) = m
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nl=10, ni=25

nl=10, n2=5




TH 1.

TEH 2.

TEH 3.

— 7l 2
BB X N(i, 09, X0 KXo, X HICREA, WX =—Y X, ~ N T
n 4 n

sy =2_H

~ N(0,1)

B X1, X0, Xn K N(1, 0 HRIREAR, X, S 2hmlEkE
ARBEFREAR T 22, WA

1y o2
o TS 012)5 ~ X (=1

XA RE BELAE J5 THI K5 3]
SHE, KEMEGT—EH

v ydJ1l
2° X 5 SPHHH AT HA.

-\[’& X15X2)"'5Xn1 '—Zj-& Y13Y2>---,Yn2 ﬁ\%U%ﬁﬁiﬁﬁﬁ%%ﬁEzﬁféﬁg N( l']’ 1y Y 2)7

l -
e (5}

N(uo o )RR, HPREAMIMT. BX =25 X, V=15 v 4 Hp i
LS (-0 83 =S (- T A A

n, i n, -145

AHHME, SP=

JiZs, WA

___ _ _ _ 2 _ 2
(X-Y) (l'll uz) - l(l’ll +n, -2), /ﬁ\:l:lj SW — \/(”h 1)S1 +(7’12 1)S2
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SW i+i
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